

Indexed Results

2025 RMSolo SS#3

Pos	Name	Class	Num	Time	Index	Index Time	Behind	From First	Points
1	Brandon Nelson	CAMC	66	62.168	0.825	51.289	-	-	1000
2	David Fauth	X/DST	96	63.029	0.818	51.558	0.269	0.269	995
3	Salil Shukla	XA	1	61.192	0.846	51.768	0.210	0.479	991
4	Barry Ott	CS	98	63.791	0.813	51.862	0.094	0.573	989
5	Bruce Lukens	X/DST	36	63.584	0.818	52.012	0.150	0.723	986
6	Matthew Villescas	SST	99	62.378	0.837	52.210	0.198	0.921	982
7	Fabian Castanon	BST	7	62.699	0.833	52.228	0.018	0.939	982
8	Micahl Keltner	X/XB	7	61.802	0.848	52.408	0.180	1.119	979
9		X/SSC	191	65.143	0.809	52.701	0.293	1.412	973
10		X/DST	136	64.643	0.818	52.878	0.177	1.589	970
11	Robert Stanley	CAMC	27	64.251	0.825	53.007	0.129	1.718	968
12	Evan Leonard	GS	196	66.827	0.794	53.061	0.054	1.772	967
13	Jeffrey Hugo	X/DST	2	64.957	0.818	53.135	0.074	1.846	965
14	Aaron Botnick	SST	42	63.485	0.837	53.137	0.002	1.848	965
15	Steven Clark	BST	175	63.805	0.833	53.150	0.013	1.861	965
16	Brandon Clayton	GST	10	65.687	0.810	53.206	0.056	1.917	964
17	Sam Sheehan	CS	26	65.683	0.813	53.400	0.194	2.111	960
18	Matthew Guido	GS	14	67.315	0.794	53.448	0.048	2.159	960
19	Jeffrey Tattershall	X/BST	23	64.213	0.833	53.489	0.041	2.200	959
20	Chris Jenkins	SSC	66	66.194	0.809	53.551	0.062	2.262	958
21	Dan Herrera	BS	31	65.393	0.819	53.557	0.006	2.268	958
22	Zach Fauth	X/SSC	91	66.315	0.809	53.649	0.092	2.360	956
23	Jim Reyenga	X/BS	59	65.518	0.819	53.659	0.010	2.370	956
24	Jon Tregoning	CS	13	66.016	0.813	53.671	0.012	2.382	956
25	Jesse Shapiro	ES	27	67.998	0.790	53.718	0.047	2.429	955
26	Terry Brown	CAMT	67	65.572	0.821	53.835	0.117	2.546	953
27	Suraj Pradhan	BST	75	64.629	0.833	53.836	0.001	2.547	953
28	Doug Young	AS	43	65.282	0.826	53.923	0.087	2.634	951
29	Greg Sheehan	CS	126	66.339	0.813	53.934	0.011	2.645	951
30	Van Townsend	X/CS	69	66.396	0.813	53.980	0.046	2.691	950
31	Matt Buland	BS	24	65.964	0.819	54.025	0.045	2.736	949
32	Mike Snyder	SSC	16	67.043	0.809	54.238	0.213	2.949	946
33	Sam Blackburn	GST	22	66.984	0.810	54.257	0.019	2.968	945
34	Lew Thomas	SS	8	64.923	0.836	54.276	0.019	2.987	945
35	Paul Leonard	GS	96	68.374	0.794	54.289	0.013	3.000	945
36	Chris Kory	SSC	95	67.125	0.809	54.304	0.015	3.015	944
37	Bob Klingler	CS	99	66.817	0.813	54.322	0.018	3.033	944
38		GST	37	67.360	0.810	54.562	0.240	3.273	940
39		HS	197	69.684	0.784	54.632	0.070	3.343	939
40	Hubert Borowski	HS	97	69.791	0.784	54.716	0.084	3.427	937
41	Michael Bice	CAMC	12	66.563	0.825	54.914	0.198	3.625	934
42	Mark Bibb	XA	33	64.943	0.846	54.942	0.028	3.653	934
43	Alan Lehman	XB	34	64.819	0.848	54.967	0.025	3.678	933
44	John Bonvouloir	X/FSP	156	66.158	0.831	54.977	0.010	3.688	933
45	Rob Vitale	CS	7	67.875	0.813	55.182	0.205	3.893	929
46	Elijah Fauth	X/DST	196	67.895	0.818	55.538	0.356	4.249	923
47	Aaron Phillips	DS	70	68.493	0.811	55.548	0.010	4.259	923
48	Keith Sinz	SST	17	66.444	0.837	55.614	0.066	4.325	922
49	Eric Helms	XA	42	65.757	0.846	55.630	0.016	4.341	922
50	Brent Isaacs	SSC	51	68.859	0.809	55.707	0.077	4.418	921
51	Steven Guido	GS	114	70.186	0.794	55.728	0.021	4.439	920
52	Mark Steichen	ES	43	70.572	0.790	55.752	0.024	4.463	920

Indexed Results

2025 RMSolo SS#3

Pos	Name	Class	Num	Time	Index	Index Time	Behind	From First	Points
53	Kirk Dunlap	BS	4	68.112	0.819	55.784	0.032	4.495	919
54	Tu Le	HS	2	71.216	0.784	55.833	0.049	4.544	919
55	Dylan Maisel	AST	81	66.949	0.834	55.835	0.002	4.546	919
56	Brandon Short	CAMT	20	68.064	0.821	55.881	0.046	4.592	918
57	Glenn Fair	ES	81	70.983	0.790	56.077	0.196	4.788	915
58	Clay Turner	CAMS	90	66.443	0.844	56.078	0.001	4.789	915
59	Shannon Short	CAMT	120	68.325	0.821	56.095	0.017	4.806	914
60	Mariusz Symkow	AST	101	67.453	0.834	56.256	0.161	4.967	912
61	Bud Smith	M/FM	146	61.483	0.917	56.380	0.124	5.091	910
62	Jeff Morgan	CAMS	15	66.834	0.844	56.408	0.028	5.119	909
63	Jeannette Wicks	FS	26	69.076	0.817	56.435	0.027	5.146	909
64	Jen Mathis	BS	76	69.009	0.819	56.518	0.083	5.229	907
65	Brandon Holleman	XB	2	66.890	0.848	56.723	0.205	5.434	904
66	Randy Hickman	AS	53	68.752	0.826	56.789	0.066	5.500	903
67	John Victoria	BST	31	68.305	0.833	56.898	0.109	5.609	901
68	Kamen Guentchev	XA	96	67.599	0.846	57.189	0.291	5.900	897
69	Sonya Morgan	AS	41	69.398	0.826	57.323	0.134	6.034	895
70	Brandon Brenaman	GST	11	70.958	0.810	57.476	0.153	6.187	892
71	Chris Robbiano	N/ES	6	72.882	0.790	57.577	0.101	6.288	891
72	Skip Blades	X/CAMC	10	69.897	0.825	57.665	0.088	6.376	889
73	robert Miller	CAMT	53	70.774	0.821	58.105	0.440	6.816	883
74	Evyne Fair	ES	181	73.554	0.790	58.108	0.003	6.819	883
75	Ricardo Lizardo	DS	3	71.840	0.811	58.262	0.154	6.973	880
76	Carl Hansen	DS	73	72.250	0.811	58.595	0.333	7.306	875
77	Izaah Delahoya	BST	107	70.903	0.833	59.062	0.467	7.773	868
78	Justin Char	BS	42	72.206	0.819	59.137	0.075	7.848	867
79		BS	70	72.519	0.819	59.393	0.256	8.104	864
80	Mark Mauro	CS	92	73.331	0.813	59.618	0.225	8.329	860
81	Christopher King	N/GST	14	73.639	0.810	59.648	0.030	8.359	860
82	Lian Guentchev	XA	196	70.560	0.846	59.694	0.046	8.405	859
83	Ron Miller	CAMC	7	72.365	0.825	59.701	0.007	8.412	859
84	Josh Yoder	GST	15	73.826	0.810	59.799	0.098	8.510	858
85	Hap Schadler	CAMT	65	72.870	0.821	59.826	0.027	8.537	857
86	David Woolever	CAMC	30	72.584	0.825	59.882	0.056	8.593	857
87		XP	62	67.303	0.890	59.900	0.018	8.611	856
88	Rick Walford	CAMC	9	72.608	0.825	59.902	0.002	8.613	856
89	Davis Kali	DST	17	73.381	0.818	60.026	0.124	8.737	854
90	Seth Lawrey	BST	53	72.219	0.833	60.158	0.132	8.869	853
91	Nate Caprioli	AST	1	72.147	0.834	60.171	0.013	8.882	852
92	Scott Yoder	GST	115	74.474	0.810	60.324	0.153	9.035	850
93	Cameron Smith	EST	5	74.039	0.815	60.342	0.018	9.053	850
94	Blake L'Orange	DS	46	74.474	0.811	60.398	0.056	9.109	849
95	Ken Hammack	BS	6	74.064	0.819	60.658	0.260	9.369	846
96	Jacob Hardy	CAMS	88	71.936	0.844	60.714	0.056	9.425	845
97	Barbara Bielucki	SSC	116	75.213	0.809	60.847	0.133	9.558	843
98	Steve Terry	BS	176	74.424	0.819	60.953	0.106	9.664	841
99	Ethan Goodpasture	XB	71	71.934	0.848	61.000	0.047	9.711	841
100	David Wiese	P/FP	179	69.670	0.877	61.101	0.101	9.812	839
101	Derrick Myers	CAMT	122	74.555	0.821	61.210	0.109	9.921	838
102		SMF	11	72.193	0.850	61.364	0.154	10.075	836
103	Kaylee Sinz	GST	8	76.070	0.810	61.617	0.253	10.328	832
104	Tyler Shuman	N/CAMS	94	73.394	0.844	61.945	0.328	10.656	828

Indexed Results

2025 RMSolo SS#3

Pos	Name	Class	Num	Time	Index	Index Time	Behind	From First	Points
105		XP	24	69.796	0.890	62.118	0.173	10.829	826
106	Chandler Slowik	XB	8	73.274	0.848	62.136	0.018	10.847	825
107	Bev Landdeck	DS	177	76.743	0.811	62.239	0.103	10.950	824
108	Gunnar Germany	N/DS	130	77.001	0.811	62.448	0.209	11.159	821
109	Jason Slowik	XU	83	71.876	0.869	62.460	0.012	11.171	821
110	Stephen Kohn	BS	7	76.326	0.819	62.511	0.051	11.222	820
111	Garrett Prazan	N/FS	1	76.594	0.817	62.577	0.066	11.288	820
112	Nicholas Wilson	XB	66	74.435	0.848	63.121	0.544	11.832	813
113	Alexis Aragon	S/SM	4	72.844	0.868	63.229	0.108	11.940	811
114	Daniel Abel	XB	108	74.749	0.848	63.387	0.158	12.098	809
115	Trevor Reimers	N/EVX	32	75.737	0.839	63.543	0.156	12.254	807
116	Chelsea Tattershall	BST	23	76.393	0.833	63.635	0.092	12.346	806
117	Taeron Waring	N/DST	23	78.110	0.818	63.894	0.259	12.605	803
118	Bob Landdeck	DS	77	78.843	0.811	63.942	0.048	12.653	802
119	Alec Gildner	N/CS	98	78.661	0.813	63.951	0.009	12.662	802
120	Chelsea Buland	DS	42	78.916	0.811	64.001	0.050	12.712	801
121	Mark Vandegriff	P/FP	79	73.048	0.877	64.063	0.062	12.774	801
122	Mathew Wilson	SS	7	76.674	0.836	64.099	0.036	12.810	800
123	Erik Hiten	N/FSP	18	77.217	0.831	64.167	0.068	12.878	799
124	Zach Walker	DS	16	79.160	0.811	64.199	0.032	12.910	799
125	Jessica Char	BS	142	78.464	0.819	64.262	0.063	12.973	798
126	Christian Jimenez Barron	GS	88	81.064	0.794	64.365	0.103	13.076	797
127	Carl Germany	N/DS	30	80.063	0.811	64.931	0.566	13.642	790
128	Terry Myers	CAMT	76	79.624	0.821	65.371	0.440	14.082	785
129	Glen Outcalt	M/BM	67	65.718	1.000	65.718	0.347	14.429	780
130	Angel Cruz	N/XU	7	75.842	0.869	65.907	0.189	14.618	778
131	kevin koch	SST	41	78.864	0.837	66.009	0.102	14.720	777
132	Michelle Miller	CAMC	8	81.579	0.825	67.303	1.294	16.014	762
133	Dustin Chisum	N/CAMS	4	80.872	0.844	68.256	0.953	16.967	751
134	Gabe Berta	N/CAMC	17	83.483	0.825	68.873	0.617	17.584	745
135	Ryan Prazan	N/EST	111	84.866	0.815	69.166	0.293	17.877	742
136	Colton Smith	N/XB	24	83.625	0.848	70.914	1.748	19.625	723
137	Katie Rant	N/XB	134	84.994	0.848	72.075	1.161	20.786	712
138	Istana Castillo	N/ES	61	91.367	0.790	72.180	0.105	20.891	711
139	Keenan Shuman	N/EST	114	93.662	0.815	76.335	4.155	25.046	672
140	Andres Mencos	N/DST	2	98.117	0.818	80.260	3.925	28.971	639
141	James Berta	N/SS	149	96.242	0.836	80.458	0.198	29.169	637
142	Sojeong Kang	CS	3	115.263	0.813	93.709	13.251	42.420	547
143	Jay Bonvouloir	X/FSP	56	66.276	0.831	0.000	93.709	51.289	0
144		BST	37	72.230	0.833	0.000	0.000	51.289	0
145	Bob Ely	P/CP	27	70.377	0.863	0.000	0.000	51.289	0
146	Dalton Gray	N/CAMT	20	74.986	0.821	0.000	0.000	51.289	0
147	Ted Lewis	M/DM	1	63.469	0.906	0.000	0.000	51.289	0
148	Carolyn Berta	N/GST	117	115.257	0.810	0.000	0.000	51.289	0
149		CAMT	4	74.604	0.821	0.000	0.000	51.289	0
150	Andrew Altermatt	AST	34	66.925	0.834	0.000	0.000	51.289	0
151	Greg Burnett	AS	9	No Time	0.826	No Time	-	-	-
152	Wayne Mohler	BST	70	No Time	0.833	No Time	-	-	-
153	Keith Johnson	CAMC	38	No Time	0.825	No Time	-	-	-
154	Marcus Short	CAMC	5	No Time	0.825	No Time	-	-	-
155	Lewis Gaskell	ES	143	No Time	0.790	No Time	-	-	-
156	Joshua Cobos	GS	5	No Time	0.794	No Time	-	-	-

Indexed Results

2025 RMSolo SS#3

Pos	Name	Class	Num	Time	Index	Index Time	Behind	From First	Points
157	Nick Marks	GST	23	No Time	0.810	No Time	-	-	-
158	Wendy Hisel	N/CS	42	No Time	0.813	No Time	-	-	-
159	Matthew Walsh	P/XP	24	No Time	0.890	No Time	-	-	-
160	Keith Papulski	P/XP	62	No Time	0.890	No Time	-	-	-
161	Rudy Garcia	S/SMF	11	No Time	0.850	No Time	-	-	-
162	Ryan Garabedian	SSC	151	No Time	0.809	No Time	-	-	-
163	BJ Fulton	SST	88	No Time	0.837	No Time	-	-	-
164	Michael James	X/BST	123	No Time	0.833	No Time	-	-	-
165	Vivek Koduri	X/DST	135	No Time	0.818	No Time	-	-	-
166	Michael Feeney	X/BS	95	No Time	0.819	No Time	-	-	-
167	Helena Sandgaard	XA	67	No Time	0.846	No Time	-	-	-